Supplemental figures for case (vii-a)

This ST shows results from simulations where 10% of functional tumor lymphatics were assumed to be remaining
in the tumor. Therefor we take LZ(L)S;L)/V =1/10 LZ(L)SJ(VL)/V.
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Figure 1: Snapshots of interstitial fluid flow related quantities. Corresponds to Figure 4 in the paper.
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Figure 2: Averages of IF flow quantities vs. distance from tumor surface 6. Corresponds to Figure 5
in the paper.
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Figure 3: Drug distribution s in a series of snapshots. Corresponds to Figure 7 in the paper.
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Figure 4: Drug concentration profiles at different times. (A) plotted vs. 0, and (B) vs. distance from
vessels p. Corresponds to Figure 8 in the paper.
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Figure 5: Spatial distribution of drug exposure metrics. (A) maximum concentration ICMAX and (B)
the AUC ICAUC, taken from a slice through the origin of the system. Corresponds to Figure 9 in the paper.
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Figure 6: Drug exposure metrics profiles. Maximal concentration ICMAX (A) and area under curve
ICAUC (B) plotted vs. 8. Corresponds to Figure 10 in the paper.
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Figure 7: Maximal concentration (A) and area under curve (B) for the concentration in the
interstitial compartment.
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Figure 8: Logarithmic plot of the length scale Ly.. It is defined by Lg. = kq/|v| following the requirement
that the Peclet number equals one, i.e. 1 = Pe = Lg.|v|/kq. The data is scaled logarithmically.



